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Part A: Grammmar and Vocabulary
| Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four
| words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best ||
Il completes the sentence. Then mark your answer sheet.

76- Several English supplementary materials and since the introduction of
Vision Books.
1) were written — published 2) were written — have been published
3) have been written — were published 4) have been written — published

77- Bananas originated in Asia but now ---------- in the tropics of both hemispheres of the
world. They were introduced to the Americas in 1516.
1) those grow 2) they have been grown
3) are grown 4) being grown

78- Well, you know, these English books are useful ----- too expensive, so I cannot buy ----- .
1) but — them 2) but — these English books
3) and — them 4) and — these English books

79- It seems to me, Minister, that the Government has broken all its pre-election promises
regarding the Health Service, ---------- ?
1) hasn’t it 2)isn’t it 3) haven’t 1 4) doesn’t it

80- Although the book “The Compleat Angler” was written four hundred years ago, it is still
1) systematic 2) comprehensible  3) expected 4) relevant

81- 1 was tidying my husbanrd’s clothes, and I quite ---------- found his birthday present for
me.
1) mistakenly 2) positively 3) normally 4) accidentally

82- Dan Poynter once said, “If you wait for ---------- to write you’re not a writer, you’re a
waiter.”
1) diction 2) inspiration 3) communication  4) generation

83- My chemistry homework was very hard, but this book heiped me ---------- how to answer
the questions.
1) read on 2) stand for 3) work out 4) jump into

84- Phthalic acid ester is a kind of plasticization material. As time goes on, it transfers from
the plastic into the external environment, and now it has become a widespread global

environmental ---------- .
1) fortune 2) average 3) pollutant 4) influence

Jb
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85- Reza and Mina, married for S years, have had some ---------- differences, but in general
they get on well together.
1) absolute 2) minor 3) heavy 4) countless

86- Mary’s grandparents visit just once a year, so ---------- she is ill and can’t see them.
1) it’s not surprising 2) it’s a pity 3) I suppose 4) it’s so touching

87- Although James had lived in the cottage near the village shop for many years, he had few
friends there, because he ---------- himself, and spoke to people only when he needed to.
1) kept very much to 2) paid very little attention to
3) took great care of ) 4) behaved well towards

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

It’s never good to be unkind to anyone, but it’s especially terrible to see older people
being pushed aside. After all, these folks have life experiences that we should (88) ------- :
Remember that being polite to everyone, (89) ---------- of their age, shows your true
character. Ignoring those who have been around much longer than us shows a (90) --------
of manners on our part.

If the elderly person is a grandparent, aunt, uncle, or related to you in any way, show
that you love him or her. Offer a (91) ---------- and say something affectionate. Ask
questions about your ancestors and offer to put together a photo album. You (92) ----------
by how enriching the experience can be, and you’ll most probably learn something new
about your family.

88- 1) listen and learn 2) listen to and learn

3) listen and learn from 4) listen to and learn from
89- 1) with regard to , 2) regarding

3) by regarding 4) regardless
90- 1)lack 2) worth 3) stage 4) point
91- 1)lap 2) duty 3) hug 4) care
92- 1) will be amazed 2) are amazed

3) you will amaze them 4) you amaze them

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

Passagel:

Julia Morgan was born in 1872 and grew up in Oakland, California. At a time when it
was uncommon for women to pursue higher education and full-time careers, she became
one of the most successful and well-known architects in the United States.

As a child and teenager, Morgan spent most of her time in California, but she also
made several trips to New York to visit her extended family. She became close with an
older cousin and her cousin’s husband, Pierre LeBrun, who was an architect in New York
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City. While most young women her age were planning large parties to celebrate their
entrance into society, Morgan asked her parents if she could attend college instead.
Impressed with their daughter’s ambition, they agreed, and Morgan enrolled at the
University of California in Berkeley to study civil engineering.

Morgan was the only woman in her engineering program, and she excelled in her
classes. She dreamed of a career in architecture and decided to apply to the Paris School
of Fine Arts to continue her studies. She was eventually admitted and quickly became
successful at the institution. In fact, she graduated with her architecture degree in three
years instead of the usual five.

Morgan then returned home to California and began her career as an architect in a
large design firm. Among her many well-known clients was newspaper publisher
William Randolph Hearst. He hired Morgan to design several buildings, including his
largest estate, Hearst Castle. During these years, Morgan developed her signature
architectural style.

Working for Hearst helped Morgan make a name for herself, and she soon had enough
clients to open her own architectural practice. Her services were in high demand
following the San Francisco earthquake of 1906. Thanks to her training as an engineer,
Morgan understood how to construct buildings that could resist forceful movement in the
event of another earthquake.

But the projects dearest to Morgan’s heart were those that promoted the education of
women. She designed a series of buildings for the YWCA, an organization that provided
classes and gathering spaces for young women. She also oversaw the master plan of Mills
College, a women’s college outside of her hometown of Oakland, and contributed six

buildings to its campus.

93- Which sentence BEST states the main idea of the text?
1) Julia Morgan began her career in a large design firm and had many well-known
clients.
2) Julia Morgan’s early journeys to New York and Paris helped her develop a lifelong
love of travel.
3) Through her work with the YWCA, Julia Morgan showed her commitment to the
education of young women.
4) Although it was unusual for the time, Julia Morgan attended a university and then
became a successful architect.
94- The passage provides enough information to answer which of the following questions?
1) Which university did Morgan’s cousin’s husband, Pierre LeBrun, attend?
2) How many years early did Morgan receive her architecture degree?
3) How long did it take for Morgan to design Hearst Castle?
4) What kinds of services did Morgan offer to the authorities after the San Francisco
earthquake?
95- Why does the author begin paragraph 6 with the word “But”?
1) to create uncertainty around an important moment in Morgan’s career
2) to show how people’s views of Morgan’s work have changed over time
3) to contrast two areas of Morgan’s architectural work
4) to introduce an unexpected effect of one of Morgan’s projects
96- What does the word “its” refer to in paragraph 6?
1) Mills college 2) YWCA 3) hometown 4) Oakland
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Passage2:

People began farming over 10,000 years ago. Not everyone grew the same kind of crops.
Different areas of the world grew different crops. Farmers in the Middle East grew
wheat, and farmers in China grew rice. Farming gave people more food. After farming,
people began to raise animals. The first animals were raised for food. They included
sheep, cows, goats, and chickens.

Farming helped people to stay in one place for a long period. This meant that people
needed somewhere to live. They built stronger houses that would last for years. They also
built places to store extra crops. They would eat some of the extra crops, but they would
also trade or sell these crops for money. In this way, cities began to develop.

[A] Many people lived in the same city. This meant that not everyone needed to raise
crops or animals. Some people could do special work.[B] For example, workers would
build houses, artists could make pots, arts, and crafts, and priests could do religious work.
[C] People learned to divide the jobs so that everyone in the city could benefit. [D] This
led to different classes of people.

Many people moved to cities. Some cities became very big. They covered large areas
of land. They also became rich. These cities needed to remember how many people and
crops there were. They needed to check what was traded or sold. Someone came up with
the idea of writing this information down. With written records, things would not be
forgotten. Ideas could be shared with other people. Writing allowed people in cities to
complete many things. It helped them build structures like temples and palaces. It helped
them to explore different ideas to make life better. This made cities even bigger.
Countries and empires grew out of this system.

97- According to the passage, all of the following were raised for focd EXCEPT ---------- .
1) cows 2) horses 3) chickens 4) sheep

98- Which of the following best expresses the essential information in the highlighted
sentence? Incorrect answers change the meaning in important ways or leave out
essential information. ,
They would eat some of the extra crops, but they would also trade or sell these crops for
money. '
1) When people ate the extra crops, they would have to trade or sell other things.
2) People wanted to trade or sell the crops so that they could eat expensive food.
3) Some people would eat the extra crops before they could be traded or sold.
4) The extra crops might be eaten or sold.

99- The letters [A], [B], [C] and [D] in paragraph 3 indicate where the following sentence
can be added. Where would the sentence best fit?
“This led to different groups of people with specialized skills and abilities.”

1) [D] 2) [C] 3) [A] 4) [B]
100- Which of the following can be inferred about early writing?
1) It was not easy to learn. 2) Not many kings could read it.
3) It helped cities to improve. 4) People used it to tell stories.
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